s 0D

Negatieve exponenten van 10

Naam:

3x10=

100D =

1 x10=

1004 =

1002 =
4x10=
479,6+ 107 =
1003 =
2x1077 =

9x10% =

Datum:

2% 1003 =
3x10° =

106,2 + 1002 =
333107 =
9x 10 =

1002 =

644,5x 1001 =
100D =

1004 =

3x107% =

www.snowmath.com

Score:
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A &

Negatieve exponenten van 10

Naam:

3 %10 = 30
1077 = 0.1

1%x10=10

107 = 0.0001

1072 = 0.01

4% 10 = 40

479, 6+ 107 = 479600
107 = 0.001

2 x 107 = 0.002

9 x 10> = 900

Datum: Score:

2% 107 = 0.002
3x10°=3

106,2 + 107 = 10620
333 + 1077 = 333000
9% 10 =90

1072 = 0.01

644, 5 x 107 = 64.45
1077 =0.1

10 = 0.0001

3% 10 =0.03
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